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iv. (a) Mathematics and Science

91. fiy¤Â£l¤ij ã®zæ¥ngh®

A ghl¤Â£l FGéd® B tF¥ò MÁça®fŸ
C fšé tšYe®fŸ D jiyikahÁça®fŸ

      Curriculum is designed by

A Syllabus Committee B Class Teachers
C Educational Experts D Headmasters

92.Ã‹tUtdt‰WŸ rh®gfh v© vJ?

A (7, 21) B (3, 15) C (3, 5) D (6, 2)

Which one of the following is relatively prime?

A (7, 21) B (3, 15) C (3, 5) D (6, 2)

93.kÂ¥ò fh©f (2 3 + 5 ) ( 5 - 2 3 )
A – 9 B 12 C -1 D -7

Evaluate (2 3 + 5 ) ( 5 - 2 3 )
A – 9 B 12 C -1 D -7

94.bfhL¡f¥g£l n v©fëš (n>1), xU v© 1 -
n
1

k‰w v©fŸ

mid¤J« x‹WfŸ våš, n v©fë‹ ruhrç.

A 1 - 2

1

n

B n -
n
1 C 1 D n - 2

1

n

Given n numbers (n>1), of which one is 1-
n
1  and all others are 1’s.

The mean of   the n numbers is
A 1 - 2

1

n

B n -
n
1 C 1 D n - 2

1

n

95.M®¤Âæl« 1 Kjš 9 tiu vGj¥g£l v© m£ilfŸ ÏUªjd.  mtŸ 3
v© m£ilfis vL¤J mik¡F« v© 280-¡F« 300-¡F« Ïilæš
ÏU¡f nt©Lbkåš ÑnH cŸst‰¿š vij vL¡f nt©L«.
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A B

C D

Arthi has number cards with numbers 1 to 9, if she wants to
choose three cards to form a number between 280 and 300, then
she has to choose ____ option.

A B

C D

96.2 (2x-1) = 8(3-x), våš, x ‹ kÂ¥ò
A -1 B -2 C 2 D 3

      If 2 (2x-1) = 8(3-x), then the value of x is
A -1 B -2 C 2 D 3

97.
00297.0
728.329  = X våš

297
329728

‹ kÂ¥ò

A 10 x B 100x C
10
X D

100
X

2

6

9

3 2

7

8
3

1

5 7

2

2

6

9

3 2

7

8
3

1

5 7

2
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        Find the value of
297
329728 if

00297.0
728.239  = x

A 10 x B 100x C
10
X D

100
X

98.(x-1) v‹gJ x3 + 5x2 – x – 5 ‹ xU fhuâ våš, k‰w fhuâfŸ
A (x-1) (x+5) B (x-1) (x-5) C (x+1) (x+5) D (x+1) (x-5)

One of the factors of the expression x3 + 5x2 – x – 5 is (x-1). The other
factors are

A (x-1) (x+5) B (x-1) (x-5) C (x+1) (x+5) D (x+1) (x-5)

99.X® <çy¡f v©â‹ Ïy¡f§fë‹ TLjš 6. mªj v©âèUªJ 18-
I fê¤jhš Ïy¡f§fŸ Ïl« khW« våš mªj v©.

A 51 B 24 C 33 D 42

Sum of the digits of a two digit number is 6. If 18 is subtracted
from the number its digits are interchanged.  The number is

A 51 B 24 C 33 D 42

100. . “ o°by¡îah” thš f‰wèš V‰gL«  ÏayhikfŸ

________cl‹ K¡»a bjhl®òilaJ.

A nf£lš k‰W« vGJjš B go¤jš  k‰W« vGJjš
C ngRjš k‰W«  go¤jš D ngRjš k‰W« nf£lš

Dyslexia is associated mainly with difficulties in ____________
A Hearing and Writing B Reading and Writing
C Speaking and Reading D Speaking and Hearing

101)  VnjD« _‹W K¡nfhz§fë‹ _‹W nfhz§fë‹ TLjš
Ñœ¡f©l tifæš miktij c‰Wneh¡»a khzt‹

300 + 450 + 1050 = 1800

300+ 600 + 900 = 1800

450+ 550 +800 = 1800

       mt‰¿‹ TLjèèUªJ “vªj xU K¡nfhz¤Â‹ _‹W nfhz§fë‹
TLjš

       1800” v‹w KoÎ¡F tU»wh‹. Ïªj f‰wš KiwahdJ.

A gF¥ò Kiw B brŒJ f‰wš Kiw
C éÂtU Kiw D éÂés¡F Kiw
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A Student observes the angles of any three triangles as follows.

300 + 450 + 1050 = 1800

300 + 600 + 900 =1800

450 + 550 + 800 = 1800

       He concludes that “Sum of three angles of any triangle is 1800 ” .
This method of learning is

A Analytical B Learning by doing
C Inductive D Deductive

102) 500 br.Û. + 50 Û + 5 ».Û  =

A 500 Û B 555 Û C 5055 Û D 55 Û

500 cm + 50 m + 5 km=

A 500 m B 555 m C 5055 m D 55 m

103) 11 ngdh¡fë‹ ml¡f éiy 10 ngdh¡fë‹ é‰w éiy¡F rk«
våš Ïyhg   mšyJ e£l rjÅj¤ij¡ fh©f.

A 11% B 1% C 21% D 10%

       The cost price of 11 pens is equal to the selling price of 10 pens.
Find the loss or gain percent.

A 11% B 1% C 21% D 10%

104) CAI ‹ ga‹ghL

A f‰Ã¤jY¡fhf B têfh£LjY¡fhf
C jåeg® f‰Ã¤jY¡fhf D brašÂw‹ nk«gh£o‰fhf

       CAI is used for
A Instructional purpose B Guidance purpose
C Individualized   Instructions D Performance appraisal

105) NHiy¡ ifahS« Âwid khzt®fëila ts®¡F« Kiw

A éçÎiu Kiw B tuyh‰W Kiw
C MŒtf Kiw D éçÎiu k‰W« brŒJfh£L« Kiw

      The method that helps in developing manipulative skills among
the students is
A Lecture method B historical method
C Laboratory method D Lecture cum demonstration method

106) xU khzt‹ -5 -3 = 8 v‹W  fz¡»L»wh‹. ÃiH
V‰gLtj‰fhd fhuz«.
A KG¡fë‹ bgU¡fiy¥ g‰¿a fU¤J mtD¡F òçahjjhš
B mtDila ftdä‹ikahš
C KG¡fë‹ T£liy¥ g‰¿a fU¤J mtD¡F òçahjjhš
D Ïnj khÂç fz¡Ffëš mtD¡F gæ‰Á njit¥gLtjhš
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A student solves -5 -3 = 8.  The reason for the error is
A He has understood the concept of multiplication of integers.
B He is careless.
C He is not clear about the concept of addition of Integers.
D He needs to practice solving problems of similar type.

107)  120 g¡f§fis¡ bfh©l xU ò¤jf¤Âš, x›bthU g¡f¤ÂY«
45 tçfŸ cŸsd.  xU g¡f¤Â‰F 24 tçfŸ k£L« ÏUªjhš
ò¤jf¤Âš________   g¡f§fŸ ÏU¡F«
A 150 B 165 C 275 D 225

       In a book there are 120 pages with 45 lines in each page.  If the
number of lines in a page are reduced to 24, the total number of
pages will be _______

A 150 B 165 C 275 D 225

108)  xU gâahs® %.11,250-I C¡f¤ bjhifahf¥ bgW»wh‹.  ÏJ
mtç‹ M©L tUkhd¤Âš 15% våš mtç‹ khj tUkhd«.

A %. 75000 B %.7250 C %.6250 D %.6000

An employee gets Rs.11250 as bonus.  If this amount is 15% of
his annual income, then the monthly income of the employee is

A Rs. 75000 B Rs.7250 C Rs.6250 D Rs.6000

109) xU bjhiy¡fh£Á¥ bg£o 10% k‰W«  20% M»a bjhl®
jŸSgofŸ bfhL¤jÃ‹ %.5760 ¡F é‰f¥gL»‹wJ våš Ïj‹
F¿¤j éiy v‹d?

A %. 6000 B %. 8000 C %. 7000 D %. 5000

A television set was sold for Rs.5760 after giving successive
discounts of 10% and 20% respectively.  What is the marked
price?
A Rs. 6000 B Rs.8000 C Rs.7000 D Rs.5000

110)  eh‰fu«  ABCD ‹ gu¥ò

A 65 br.Û2. B 56 br.Û2. C 150 br.Û2 D 90 br.Û2
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        Area of the quadrilateral ABCD is

A 65 cm2 B 56 cm 2 C 150 cm 2 D 90 cm 2

111) xU js¤ij Ô®khå¥gj‰fhd mo¥gil¡ f£L¥ghL

A 1 òŸë B 3 òŸëfŸ C 2 òŸëfŸ
D ne®¡nfh£oyikahj 3 òŸëfŸ

        The necessary condition for the determination of a plane is
A One point B Three points C Two points
D Three non-collinear points

112) éÂtU Kiw v‹gJ.

A gšntW vL¤J¡fh£LfëèUªJ bghJ éÂ
B jhnd – f‰wš Kiw
C FG f‰wš Kiw
D fU¥ bghUëèUªJ gU¥bghUis neh¡»¢ bršYjš

         Induction method is
A From various examples to general concepts.
B Self learning method
C Group learning method
D Moving from abstract to concrete

113)  xU t£l toéyhd jhäu f«Ãæ‹ Mu« 35 br.Û. ÏJ xU
rJukhf tis¡f¥g£lhš, m¢rJu¤Â‹ g¡f msÎ

A 220 br.Û. B 55 br.Û. C 35 br.Û. D 70 br.Û.

A copper wire is in the form of a circle with radius 35cm.  If it is
bent into a square then the side of the square will be

A 220 cm B 55 cm C 35 cm D 70 cm

114) fâj MŒÎ¡ Tl¤jhš V‰gL« e‹ik

A ghl¡ F¿¥ò jahç¡F« Âw‹ ts®»wJ
B f‰Ã¤jš cgfuz« jahç¡f cjÎ»wJ
C Âw‹fis g£oaèl cjÎ»wJ
D fh£Á¥bghU£fŸ _y« f‰gjhš f‰wš bghUŸ ãiwªjjhf

és§F»wJ.
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 Use of mathematics laboratory is
A Develops the ability to prepare notes of lesson
B Helps to prepare teaching aids
C Helps to list out the competencies
D In it learning becomes meaningful because learning is done by

visual aids

115) 6, 6, 9, 14, 8, 9, 9, 8  v‹w étu§fS¡fhd Ïilãiy,  KfL
k‰W« Å¢R M»at‰¿‹ ruhrç

A 8.5 B 10.5 C 8.8 D 10.3

        The mean of the median, mode and range of the observations 6,
6, 9, 14, 8, 9, 9, 8 is

A 8.5 B 10.5 C 8.8 D 10.3

 Ã‹tU« glkhdJ xU FL«g¤Â‹ gšntW bryéd§fë‹ rjÅj¤ij¡
 F¿¡»wJ.  mt‰iw¥ go¤J Ã‹tU« édh¡fS¡F éilaë¡fÎ«.

A – czÎ¡F, B – Jâ¡fhd bryÎ, C -  gaz¢ bryÎ, D - nrä¥ò

E - Å£L thlif, F - Ïju bryÎfŸ

The following diagram represents the percentage various expenditure
of a family . Based on the data answer the following questions.

A – Food, B – Spend on Clothing, C – Conveyance, D – Saving,

E – House Rent, F – Miscellaneous
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116) khj tUkhd« %.3080. khj tUkhd¤Âš nrä¥Ã‰fhf
xJ¡f¥gL« bjhif v›tsÎ?

A 510 B 616 C 620 D 712

The monthly income is Rs.3080. How much amount is spent on
saving per month

A 510 B 616 C 620 D 712

117) gl¤Âš Å£L thlifahš milg£l t£l nfhz¥ gFÂæ‹
ika¡ nfhz« v›tsÎ

A 560 B 340 C 540 D 360

How many degrees should be there in the central angle of the
sector for House Rent?

A 560 B 340 C 540 D 360

118) Ma¤bjhiy toéaiy m¿Kf¥gL¤j cjÎ« cfªj
mQFKiw

A Á¡fiy¤ Ô®¤jš
B éçÎiu Kiw
C g§nf‰W eo¤jš
D bjhêš E£g¤Â‹ _y« brŒJ fh£lš

A suitable approach to introduce coordinate Geometry is
A Solving Problems
B Lecture Method
C Role Play
D Demonstration using technology integration

119) 20  v©fë‹ ruhrç 59 v‹f.  x›bthU v©QlD« 3-I¡
T£odhš »il¡F« v©fë‹ ruhrç.

A 56 B 62 C 177 D 196

The mean of 20 Number is 59. It 3 is added to each number the
new mean will be

A 56 B 62 C 177 D 196

120) Ñœ¡f©lt‰¿š vJ rç?
A 9 + 3 x 2 - 42 = 10 B 6 + 42 – 1 = 4
C 4 x 3 + 42 = 14 D 27   3 – 2 x 3 = 21

      Which is correct?
A 9 + 3 x 2 - 42 = 10 B 6 + 42 – 1 = 4
C 4 x 3 + 42 = 14 D 27   3 – 2 x 3 = 21



24

121. »£l¥gh®it FiwghL V‰gLtj‰F fhuz«
A éê¡nfhs« RU§FtJ B éê¡nfhs« ÚŸtJ
C éêby‹Á‹ Féa bjhiyÎ Ú©oU¤jš D Ïitaid¤J«

Myopia – defect may arise due to
A The eyeball becoming too small B Elongation of the eyeball
C The focal length of the eye lens

becoming too long
D all the above

122. iA£u#‹ F©o‹ mQ¡fU ÏizÎ éid
A 1H2 + 1H3

2He4 + on1 + M‰wš
B 1H2 + 1H3

2He4 + 2on1 + M‰wš
C 1H2 + 1H2

2He4 + on1 + M‰wš
D 1H2 + 1H2

2He4 + 2on1 + M‰wš

The Fusion reaction in the hydrogen bomb is
A 1H2 + 1H3

2He4 + on1 + Energy
B 1H2 + 1H3

2He4 + 2on1 + Energy
C 1H2 + 1H2

2He4 + on1 + Energy
D 1H2 + 1H2

2He4 + 2on1 + Energy

123. fÂ®Å¢Á‹ msÎ ___________ myfhš msél¥gL«
A fÂ® B blÁgš C ~bg®ä D uh©£#‹

Radiation Exposure is measured by _____________ unit
A ray B Decibel C Fermi D Roentgen

124. xU  thdéaš myF (AU)
A 1.986 x 102 Û B 2.8 x 108 Û/é C 1.496 x 1011 Û D 9.467 x 1015 Û

One Astronomical unit (AU)
A 1.986 x 102 m B 2.8 x 108 Û/é C 1.496 x 1011 m D 9.467 x 1015 m

125. ä‹dG¤j ntWgh£o‹ S.I. myF
A X« B nthš£ C M«Ãa® D TY«

The S.I. unit of potential difference
A Ohm B Volt C Ampere D Coulomb

126. Ñœ¡f©lt‰¿š vªj x‹W fhy¤Â‹ myF mšy
A M©L B xë M©L C ehŸ D beho

Which one of the following is not a unit of time?
A year B light year C day D second
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127. khW»‹w ä‹jilæ‹ F¿pL

A B __  (.)  __ C D

The symbol of variable resistance is

A B __  (.)  __ C D

128. ekJ Å£oš »il¡F« khWÂir ä‹ndh£l¤Â‹ mÂ®bt©
A 240 Hz B 100 Hz C 10 Hz D 50 Hz

Frequency of our household alternating current is
A 240 Hz B 100 Hz C 10 Hz D 50 Hz

129. óäæš fyªJŸs ie£u#‹
A bjé£oa fiurš B mÂbjé£oa fiurš
C bjé£lhj fiurš D Ïitaid¤J«

Nitrogen in earth’s soil is
A Saturated Solution B Super Saturated Solution
C Unsaturated Solution D all the above

130. 6C13 k‰W« 7N14 mQ¡fis v›thW miH¡fyh«
A Inrhgh®fŸ B Inrhlh‹fŸ
C Inrhnlh¥òfŸ D fh®gå‹ Inrhnlh¥ò

The atoms 6C13 and 7N14 can be described as
A Isobars B Isotones C Isotopes D Isotopes of Carbon

131. Ñœ¡f©lt‰WŸ vJ nt‰W mQ _y¡TW?
A O2 B H2 C NH3 D H2 SO4

Which one is hetero atomic molecules?
A O2 B H2 C NH3 D H2 SO4

132. Ñœ¡f©lt‰WŸ vªj x‹W M¡ì#nd‰wkhfhJ
A iA£u#id V‰wš B M¡ì#id V‰wš
C iA£u#id Ú¡Fjš D vy¡£uh‹fis ÏH¤jš

Which one is not in oxidation?
A Gain of hydrogen B Gain of oxygen
C Loss of hydrogen D Loss of electrons
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133. Ïu¤j¤Â‹ pH kÂ¥ò
A 6 B 8.4 C 7.4 D 5.5

The pH value of blood is
A 6 B 8.4 C 7.4 D 5.5

134. Áç¥ó£L« thÍé‹ ntÂæaš bga®
A ie£u° M¡i[L B fhšÁa« ršng£
C fhšÁa« M¡i[L D ie£u° il M¡i[L

The chemical name of laughing gas is
A nitrous oxide B calcium sulphate
C calcium oxide D nitrous dioxide

135. cnyhf¥ nghè¡F cjhuz«
A Ãsh£od« B b#®khåa« C »uhig£ D btŸë

Example of Metalloids
A Platinum B Germanium C Graphite D Silver

136. òj®¢ brofS¡F vL¤J¡fh£L
A beš B nuh#h C KŸs§» D nt«ò

Example for shrubs
A Paddy B Rose C Radish D Neem

137. ãy Ú® thœtdt‰¿‰fhd vL¤J¡fh£L
A irf° B igd° C kh° D òš

Example for Bryophytes
A Cycas B Pinus C Moss D Grass

138. ghÁfis F¿¤j m¿éaš
A gh¡Oçahyí B clèaš C bršèaš D ig¡fhyí

The study of algae is called
A Bacteriology B Physiology C Cytology D Phycology

139. behÂ¤jè‹ nghJ ______________ thÍ btëah»wJ
A M¡ì#‹ B ie£u#‹ C fh®g‹ilM¡i[L D Fnshç‹

The Gas liberated during fermentation is ________________
A Oxygen B Nitrogen C Carbon dioxide D Chlorine

140. xëæ‹ ö©LjY¡F V‰wthW jhtu ghf¤Â‰F V‰gL« mirÎ
A xërh®girÎ B òérh®girÎ
C ntÂrh®girÎ D Ú®rh®girÎ
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The movement of a plant part in response to light is called
A Phototropism B Geotropism
C Chemotropism D Hydrotropism

141.mäy kiH cUthf¡ fhuzkhd thÍ vJ?
A M¡ì#‹ B ie£u° M¡i[L C Fnshç‹ D iA£u#‹

Which gas causes Acid Rain?
A Oxygen B Nitrous Oxide C Chlorine D Hydrogen

142. Úç‹ _y« fåfS« éijfS« guÎjY¡F vL¤J¡fh£L
A mtiu B bj‹id C gyh D f¤jç

Example of Fruits and seeds dispersed by water.
A Bean B Coconut C Jack D Brinjal

143. éy§F bršfëš k£Lnk fhz¥gL« brš cW¥ò
A ãÍ¡ëa° B Ãsh°khr›Î C çnghnrh« D br‹£nuhnrh«

Which cell organell is found only in animal cell?
A Nucleus B Plasmamembrane C Ribosome D Centrosome

144. gh¡Oçahit mséL« myF
A »uh« B Û£l® C bt®åa® D ik¡uh‹

Bacteria are measured in _____________ Unit
A Gram B Meter C Vernier D Micron

145. é¥çnah gh¡Oçahé‹ tot«
A fhšòŸë B RUŸ C F¢Á D nfhs«

The shape of Vibrio Bacteria is
A Comma B Spiral C Rod D Spherical

146. Ït‰¿š itu° nehŒ vJ?
A nghènah B bl£ld° C bjhGnehŒ D knyçah

Which one is viral disease?
A Polio B Tetanus C Leprosy D Malaria

147. kuÃaè‹ jªij
A rªÂunrf® B bk©lš C ny©£°bl‹d® D vk®r‹

Father of genetics
A Chandrasekar B Mendel C Landstenner D Emerson
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148. bgU§Flè‹ Ús«
A 2 Û£l® B 3 Û£l® C 1.5 Û£l® D 6 Û£l®

Length of large intestine
A 2 meter B 3 meter C 1.5 meter D 6 meter

149. njå ts®¥ò¡F cfªj Ïd«
A VÃ°  Ï©ofh B VÃ° ònshçah
C VÃ° lh®nr£lh D VÃ° bkšèbguh

Best Breed for Apiculture
A Apis indica B Apis florea
C Apis dorsata D Apis mellifera

150. gªÂ¥ó® njÁa ó§fhé‹ ÏU¥Ãl«
A F#uh¤ B f®ehlfh C m°[h« D nfush

Bandhipur National Park is in
A Gujarat B Karnataka C Assam D Kerala

-----------------------------------------


